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WILHELM  STEINITZ  (Part III)

Steinitz-Labatt 1882: White has developed a strong attack and with a brilliant first move wins quickly (4 moves):
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Steinitz, said to be the originator of positional chess, was a mystery to most of his contempories. The English amateur Henry Bird, after whom Birds Opening (1 f4) is named and who lost a close match with Steinitz in 1866 (+5, =5, -7), wrote: ‘Place the contents of a chess box in a hat, shake them vigorously, pour them on the board from a height of two feet and you get the style of Steinitz’.  Certainly some of Steinitz’ ideas appeared bizarre.  He was not afraid to compromise the position of his king: he wrote, ‘If necessary precautionary measures are taken, the king can defend itself’.  In the Scotch (1 e4, e5  2 Nf3, Nc6  3 d4, exd  4 Nxd4) he would play 4…Qh4 which wins a pawn but forces the king to remain in the centre (5 Nb5, Bb4+  6 Bd2, Qxe4+  7 Be2, Kd8). In fact Steinitz felt obliged to accept gambits – ‘a pawn is worth a little inconvenience’.  Steinitz pioneered the Steinitz Gambit in the Vienna Game in which White’s king was prepared for a meander in a minefield:



WILHELM  STEINITZ  -  LOUIS  PAULSEN



Baden-Baden 1870



Vienna Game, Steinitz Gambit



 1    e4  
e5 


 2    Nc3 
Nc6



 3    f4 

exf 


 4    d4 
Qh4+



 5    Ke2(a) 
d6(b) 


 6    Nf3 
Bg4



 7    Bxf4 
0-0-0(c) 

 8    Ke3 
Qh5



 9    Be2
Qa5(d) 

10   a3 
  
Bxf3



11   Kxf3!(e)
Qh5+ 


12   Ke3 
Qh4



13   b4 
g5 


14   Bg3 
Qh6



15   b5 
Nce7 


16   Rf1 
Nf6



17   Kf2 
Ng6 


18   Kg1(f)
Qg7



19   Qd2 
h6 


20   a4  
Rg8 



21   b6!
axb 


22   Rxf6!(g)
Qxf6



23   Bg4+ 
Kb8 


24   Nd5 
Qg7



25   a5  
f5(h)


26   axb6
cxb6



27   Nxb6!
Ne7(i) 


28   exf 
Qf7



29   f6 

Nc6 


30   c4  
Na7



31   Qa2 
Nb5 


32   Nd5 
Qxd5



33   cxd5 
Nxd4 


34   Qa7+ 
Kc7



35   Rc1+ 
Nc6 


36   Rxc6#

a)  What is Steinitz’ reasoning for allowing the displacement of his king to a square that interferes with his development?  White plans to drive back the Black queen, use his strong centre to hinder Black’s development and then to muster an attack.
 

b)  The most solid.  5...d5 is met by 6 exd with wild complications – 6…Qe7+  7 Kf2, Qh4+  8 g3! fxg+  9 Kg2, Bd6 – 9…Nxd4?  10 hxg, Qg4  11 Qe1+, Be7  12 Bd3 gives White a dominating lead in development (Steinitz-Zukertort 1886) -  10 Qe1+, Nce7  11 hxg, Qxd4  12 Nf3 with advantage (Steinitz-Tchigorin 1883).

c)  After 7…Bxf3+ Steinitz played with success both 8 Kxf3 and 8 gxf3 (8…Qxf4  9 Nd5). Perhaps best and most logical is 7…f5.

d)  Loss of tempo as the queen is also uncomfortable on the queenside. 

e)  If 11 Bxf3, g5!  12 Bg3, Bg7 with counterplay.

f)  After six moves the White king has found safety.  However after six moves Black’s queen has not found a good square.

g)  Unlike Anderssen (remember last week’s game?) Steinitz recognizes the strength of a knight outpost on d5. 

h)  A pawn sacrifice to enable the queen to assist the defence.

i)  If 27…fxg4  28 Ra8+, Kc7  29 Qc3+! Kxb6  30 Qa5+, Kc6  31 d5+, Kd7  32 Qd8#.

SOLUTION: 1 Qc4+!! and if 1…Nxc4  2 Be6+, Rf7  3 Bxf7+, Kf8  4 Bg2#.  Black played 1…Kh8 but resigned after 2 Bxd7, Rxd7  3 Qe6. 

